Is it a Function?

Use the given form of each relation to complete the other forms. Then determine if the relation is a function.

T Rewrite the Tefation given in the mapping diagram as a

2] Rewrite the relation given in the scatter plot as a

scatterplot.

Is the relation also a function?

mapping diagram.
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Is the relation also a function?

diagram.
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Is the relation also a function?

3] Rewrite the relation given in the table as a mapping
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ordered pairs (NOT a table).

Is the relation also a function?

Identify the domain and range, then determine if each graph shows a function or a relation only.

4] Rewrite the relation given in the scatter plot as a set of
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Identify the domain and range, then evaluate each function for the given value of x.
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